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10.5

a. Observational Staly:The ecumines is observing and collecting existing out on the unemployment rate and gross
site proletfor a simple ofsites are the put10 yes,

theyare not manipulating or antelling any vaiables but is instal examing the unionship between these the variables as theywillywear.

b. Experiment design:The psychlyst is artilyrmipating the viable and obseryits effect on another variable.

c. Observical study.The unkin is simplyobservy and recaling the numberofsales resulting you each a without rumphing any viables.

d. Obsentinal study: The consent is observing all reaching the level ofsuper dioxide in relation to the lord in the generatios without antially
mmpohtag any

variables.

2. Obserational study:The comprise ofturbing rates of art with governmental deregula is busal on ratally occuring charges, without any viables being

antirely unipched bythe resencer.

5. obsertival sindy:The silent is simply observing and readingthe cent ofvinyl in difert sits without antily rmpulting my
viables.

W.26

a Since y SS MS I

Tutucts 6 16.43.07 3.94

Ino 35 26.8 0.77

Total 41 45.2

b. The number of techness involuce in the experiment is you by offun intures phs on: 6+1:7
C. Gim:a=0.10, di:6, 2:35

CDFIFRutioDutibution 16.351, 3.94I

= 0.99619

p-uhe=1
- 213F=1 -0.996 =0.004

2 a =r.v)

↓

12ject Ho

This means that the duth
prices frient evidence

to inline a signjet diference anding the

population mens

oh p-vbe = 0.0360%.

ifthe all hypothesis is the vi.e. then is no fence among the populin mens, there is a 0.36% chore ofobservinga test suretic

as extreme a whole extreme than the we we have calukad from an ample oth.



3x4 Fanial Exprint.
10.91 Toth numberof observes:3x4x2:24

C. Swe of SS MS I

A 2 0.8 0.4 2

13 3 5..3 1.77 8.85

As 6 9.6 1.6 2

Ena 12 2.4 0.2

Total 23 18.1

b. In afacial ANOVA, the sunof symes for telment is tiallythe ambul sunof synas fn eachof theform and their intrate

SS: Trntet)
=SS-A) +831133 +6S-H3):0.8 +5.3 +9.6:15.7.

Futr A:1.2.12). CDF=0.822. pruheA):1-0.822 =0.176.

Fun B: My, S. 12), C17 = 0.996, p-uhe, 13):1-0.998
=0.2.

Fun AB: My. 6. 121. CDF = 0.998, p-whe-AB):
1- 0.998 =0.02.

Since the prunes for Burl HB w2) we her than the syngine lead, m: 0.05), we rject the Ho fo these futors,imitating thatthe terment

whens differ significtly for thesefit.

However, the probe in A-0178) is gut than the syntrum lead. So wefill to reject the no for the farm indicatingthat the
telet mems do not be synfintlyforfat H.

c. Yes,

Two paleforfuth Burl His more both less than alple lead, which led us to reject the Hm.

The suggest they the lead offur is and the intrain bowern Art is here a signfit effect onthe respuse viable.

Given these resales, it would be methwhile to calnt falls taking to instigate the spint eflets obsend. Specially, puthow take

could be conduct to invitigate which sperten leads offat B and which sprigic intraous been fous owl is
we catibuting

to the obserl diferes in the technet wears.

d. Fever intraction in an experiment refer to the situation where the eject of mefate, an independent viables on the atone

the dependent variables depals on the levelofanthefate. In other meals, the imput of chuyry wejuth may chuge depealing on the

level of with juche.

The prolial implicative offat interactive is that it can complicate the interpation ofthe results of an experiment.
I there is a significant intraction betwee fiths, it wears that the eyes ofwefall can be consider indeproletly ofthe one fun. Yus on be

paticallyimportant in the design ofshinges or interactions bust on the reales the experiment.

2. Prune AB) = 0.002.3 alple lead.w.ass. -> Reject the will hypotheses.

This suggests that the is a signfrit intralie efect between fats And is on the response men. In other wall, the eyes of wefork on the

respace meal depals on the lead of the otherfate. The means that thefuth # and i do not indepally alert the respose men, but with

their effects are intraumeted.

5. Given the world, it would be methwhile to calualfuth fating to invergate thisintration elect in were detail. Sprifully, put how tests could

be called to determine which sprfic leads of jut Aolfurther is are antibuting to the obsend inter effect.



10.99.

a. Ifthere is a significent intractice between JRPud NEED, it mens that the efect of justice require potation on the interston to purchase afor-tale
procket sepals as the lead ofpalue meal, and vice versa.

i.e.:A high had a sip -> Inverse invention to produce afor--have product. Only when the NEED isalso highs.

A higher leverJBP -> Little effect on the intention to purchase,when the pulver real is modernce, but a significat efot when the polar need is high,

Stranges to increase the purchase of for-take poets may
wall to conside both SIP and NEE, rather the considering eachfat in isolation.

b. p-whe-SRPXNEED) =0.00 This suggests that there isa significant intration efct between IRP urL NEED on the intention to produce

Sulpha lead 0.01 a fir-ine product. In other weeks, the elect ofmefrom on the intention to prochure afar-
Reject the Ho. take palat depals on the leadof the otherjuctor.

C. No. The main eyes of both firms. SBPud NEEDS are not setsallysignifit, prunes are 0.266 and 0.4511.

The suggests that we amage, neither fat has a signifint effect on the intention to prchule afree product when not considering
the lead of the otherfactor.

Given thee, it could be anyon that repeatingthe main fees in this case might not be as ifonte or alert, since the syfrit
intrative file suggests that the efied ofear you cant be consisted indepenlyofthe other.

The fous nightbe bear phal on the intrain effort and its interpartition.

a. The "x"shape suggests that the eyet ifwefate. SBPs on the intaton to prochure a for-ale product depols on the hardof the

other favor: NEED).

Molarak NEE hart:Incuse JBP-> Innue interes

High NEI (u1: Inware sip -> enure inventive.

The visual evidence support the
archivefor put b. whore we might the nofor the infraction tune band on the prune from the

Aro table

2. The description ofthe plot as an 'x' shape suggets that the pattern ofthe intraction might inced be consistent with the resear's hypotent.
The cursingme of unix' shape suggest that the efect ofone futar reverses depuling on the leadofthe other futer, which is what

the resences pulics.



IV. IO

aprude for the intrabid foul Gps (ah=0.247. The suggest that there is not a signifit intral effect between Gmp uol Lol on the

> crlph had 0. IV) error. In other meals, the eyes ofbeing a wider gave phyer or or non-view your

Fail to ujet the all hypotens. player in the percentage ever does not depot on whether the law is how or high.
and vice verse.

b. p-uke for the Comp main effet =0.449

> crlph had 0. IV)
The suggests that them is not a signet fence in the men parage error

Fail to ujet the all hypotens.
between video game phys and non-rider gaue plays, anegal across the labs

I loud.

2. p-value for the had whefect is has the In other meds. Being a rider gave plym or a non-video
gave phyn does not have a

~. 2005. singout effect on the perige error, when not curicing the levelof wool

S alpen (and 10.10)

Reject the wil hypotless. The suggests that there is a signint difence in the men permige ever between

the low had and high had curdities,merged across the

gaps of vidler gave phys and

ohBand as the wallso Awo table: non-visto phyns.
No signfrct where freeof Emp

ip-whe e.4491, In other wals, the Lordof hack how a highs has a signant effect on the

On wage. UGI don't prjnuh prouge ever, where not costling whether the indict is a video gave player

sigrinly beth or nose on the or no-video
give phyn.

internativel blockness that the NVGP.

Silyut which efetu Lurpules (.105)

No syut eyect born Gp ul Load

So. Bush we these wall, we of not have enclave to suggest that rolls pine bet on the intential blurkers that the

NVGPs.

10.36.

a. ANOVA table

Sure ·g S in) I P SST0:2 Ijei cys-y,

Scuring Cadition ↳
526.52 264.26 5.40 0.02) SSE =2Ijeiyy-y,,

SSTK:SSTO-SSE
Ever 12 586.40 46.91

-IEjii-y,
Total 14 1115.42

ComputethatJunlus:
p-wke:1- CDFIfayments. Ena. FI SST0:2,,jiyy"-121, yig

=1 - CDF I F2,.z, 5.40-7 =0.021
SSE =I?Ki-1s

SSTO =-23.66+6.88+ ...6.40+12.04 43.46",
SSK=SST0-SSE.

- (23.66+0.66 +. .. +12.04+3.4632

=1125.4

5) =7702. 35 =53.24.32 =16.46

365 =15-1) x27.02 +15-1) x53.24
+15- 1 x16.46 =586.40

SSR =1115.42 -556.90 =526.52



b. Tukycnfilence intels: Stene
betwee NVS urLSS, C1 inckes 0:No syng,intarence between the reemsor isa

Yi-yjI" itis Difence between NS and DS, C1 das not inhale v: Tee is signantdefence between the wins of

" =E
IVS and DS gups.

·Digence betam SS ur) DS, CIdoes not 0: The is a point offence between the mensof

yirs:17.71-yss =19.54, yiss:6.13 33 and IS gups.

8 =6.99,qa =3.49, xi= rj=5

CINs.S): - 1-63 = 15,6.99(5
=- 6.62, 5.16)

CIss.DS=13.41 1 15,6.99ItI
=16.42. 20.4u)

CINS,DS:50.9, 6.99e


